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� ������� ������ ������� �! "	# ��$�� ���%���$!  �&�� ��$����'� �� ( �'�$��) �%�$��*
����+,��  ��%��-.�+ $���� - �� %����$��� /��%���� ��$�� ��$$(�������(
� �����0$�(�*
1�� ������ 
� ( �'�$��  � ���$0�$�� 2 3�� �
��0�
� "�# ( �4��4��- �0�� �$��$���  �) ���*
 �0��� �����$ �% ��
$0� �� ��0�� ���'� �&  � ���$0�$��) 0����
� �������!� �����' 
&
( �4��4��- �0 � �� ����'� ��) � 0�����( � �  ��%��-.�& $���� � %����0 0 ���4�(� ( �4�*
�4��- �0�� ��������( �1� 0� ����'� �! ( �4��4��- �0�� �$��$���  � �
%���- ���$���5���
��$$��! �� "6# (�'��  �(��

�  ! �"#$%�"�&% '%�%(�

74�� ���($! ��$$(���� ��( ( �'�$��  � ���$0�$��� 8�$�- ���� 
 ��� ��������- 
� ( �*
4��4��- �0� A,B ⊂ R

2� ���%���$!  �&�� �� ����( �� ��$����'� ��) �%�$������+,�� (� �*
(��- �$�- ���$���5��� ��$$��! �! (�'��  �(�9

d(A,B) = max{h(A,B), h(B,A)}.

:��$-

h(A,B) = max
a∈A

min
b∈B

‖a− b‖ ;	�	<

�$�- ���$���5��� ��0�� � �� ( �'�$��� A �� B�

8���4��() ��� ( �4��4��- �0 A  ������'� ) 0� �����(� ( �4��4��- �0� B (
 (�'�(
���(� !�- ��������- 
& ���� �$ � ������� $ 1� ���( � ��������- �& ���0� ;���! �+%�� ���*
'� �� (�'�� %
�- ��������� � 0�0 ��$���������- 
& $���4 � ������� $ 1� ���( �  �0�����&
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����  �& ���0�)  ����(��  ����� 0����� ��<� :����� $�����$! 0 ��(�) ���%
 �
��$���- ��0��
x0 ∈ R

2 � ϕ0 ∈ [0, 2π]) ��! 0����
�

d(A, {x0}+Π(ϕ0)B) = min
x0∈R2, ϕ∈[0,2π]

d(A, {x} +Π(ϕ)B), ;	��<

4��

Π(ϕ) =

(
cosϕ − sinϕ
sinϕ cosϕ

)
, Π(ϕ)B = {Π(ϕ)b : b ∈ B}, ϕ ∈ [0, 2π].

��  �! ������ !��!��$! ��$.��� ��( ��$$(�������(
� �� �� ������(� � ��%���� "�)�# ��*
���$�� �% ��
$0� �� ��0�4� ���� ������  �4� ( �'�$��� {x0}+B) ��� ���$���5��� ��$$��! ��
(�'�� 3��( ( �'�$���( � 5�0$�����  
( ( �'�$���( A %
�� (� �(��- 
(� �$��$���  �)
$����& $ ���,� ��( ( �'�$���  �( �4� %���� � ����$� �

� )! ��$"�* +�,���- '%�%(�

� �%,�( $����� ��.� �� ������ ���(�' � ���-0� ��$��  
(� (�����(�� ��! ���$� �!
3��� (������ ������( �� ���%���$- ���$�� �!� �$��(�4����- 
� �� !��&�

)! ! ��$"�* .%+%//�/0�"1" #���1%

8������(  �0����
� �������� �!)  ��%����(
� ��! ���$� �! �����1��  �4� ��4����(�
��.� �! ������) $5��(�������  �& � > 	�

�.+���/����  ! ��������� π(a,B) ���0� a  � �
��0��� 0�(��0� �� ( �'�$��� B  ��
*
����$! %��'�&.�! 0 a � ��0������& (����0� ���0� �� B�

:�(���() ��� �$�� ( �'�$��� B  � �
��0���) �� %��'�&.�� 0 a ����0 (�'�� %
�- %����
�� �& "�#)  � � $����� �
��0��4� ( �'�$��� � � �$�4�� ��� $���  ��

�.+���/���� )! 	�
��
����� ������� "?# 0�(��0� �4� ( �'�$��� M ⊂ R
2  ��
����$!

��0�! ���0� c(M)) ���
h(M, {c(M)}) = inf{h(M, {x}) : x ∈ R

2}. ;��	<

������ � ;��	<  ��
����$! ��
��
����� �������� r(M) 0�(��0� �4� ( �'�$��� M ⊂ R
2�

��! �+%�4� �
��0��4� ( �'�$��� Y ⊂ R
2 5� 01�! ��$$��! �! ��  �4� �� ���0� x ∈ R

2)
ρ(x, Y ) = min

y∈Y
‖x− y‖) !��!��$! �
��0��&� �� �
��0��4� � ����� ����$� � ;$(�)  ����(��) "
#<)

��� (�0$�(��- �� � ��� �� �
��0��& 5� 01��  � �
��0��( ( �4��4��- �0� ��$��4���$!
� ���.� �� 3��4� ( �4��4��- �0�� ��0�( �%����() � 5��(��� ;	�	< (�' � � 0���$��� ����0
(�0$�(�(� ��0������4� ��$$��! �! �� ���4�4� ( �4��4��- �0� ����%����-  � �$� ���0� ( �*
4��4��- �0��) � ���-0� �� ���.� 
 ai � bj ) �� ��

ai ∈ A, i = 1, . . . , Na; bj ∈ B, j = 1, . . . , Nb;

d(A,B) = max
{

max
i=1,...,Na

ρ(ai, B), max
j=1,...,Nb

ρ(bj , A)
}
. ;���<

:��$- Na � Nb 2 0�����$��� ���.� ( �4��4��- �0�� A � B $������$���  �� ����� � ���-*
 �&.�( ai � bj %���� �$���-�����-$! ��! �%�� ��� �! ���.� ( �4��4��- �0�� A � B�

7$ ��� �����1��  �4� ��4����(� $�$����!�� $��(�) $�$��!,�! �� �������� �4� ���(� � �!
��������- �4� ���� �$� � �������� ( �4��4��- �0� B� ��  
� ����%������ �! ������,�+�
�4� � 0� 4��3 � �+ �(� 5�4����

��0 � � ��%��� "=#) $���4) �������!,�& B �  ��
& ( �4��4��- �0 B) �$�,�$���!��$! ��
5��(���

B = B +
{
c
(
W (A,B)

)}
, ;��6<

4��

W (A,B) =
{
(ai − π(ai, B)) : i = 1, . . . , Na

}⋃{
− (bj − π(bj , A)) : j = 1, . . . , Nb

}
.
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��"+�2%  ! ��� ������������ �������� ��������������� A � B � ����������� �� ����� 

�� ;��6< ���!����� B ����������� ������

d(A,B) � d(A,B). ;���<

� � 0 � � � � � � - $ � � �� �����( 5� 01�+ F (x) = d(A,B+{x})2 ���$���5��� ��$$��! ��
(�'�� ( �4��4��- �0�(� A � B + {x}� A��� $��� ;���< (�' � ����$��- � ����

F (0) = max
{

max
i=1,...,Na

ρ(ai, B), max
j=1,...,Nb

ρ(bj , A)
}
.

A�$$(����( ( �'�$��� W (A,B)� 7 � $�$���� �� �$�� ��0�����) $���� !+,�� ���0� �� �4�
( �4��4��- �0� $ �� ����01�!(�  � �����& ( �4��4��- �0� 8� �4� ��$���� �+ �
��� !��$!
���� $���

F (0) = max{‖wi‖ : wi ∈ W (A,B)}.
8���&��( �����- 0 �1� 0� ������ 
 F (x)� 8� ��$���� �+

∀ i = 1, . . . , Na (π(ai, B) + x) ∈ (B + {x}), ∀ j = 1, . . . , Nb (bj + x) ∈ (B + {x}).
: ����) (�' � ����$��-  ����� $��� ��! ���$���5��� ��$$��! �!9

F (0) = max
{

max
i=1,...,Na

ρ(ai, B + {x}), max
j=1,...,Nb

ρ(bj + x,A)
}
�

� max

{
max

i=1,...,Na

‖ai − (π(ai, B) + x)‖, max
j=1,...,Nb

∥∥π(bj , A)− (bj + x)
∥∥}. ;���<

8����! ��$�-  ����� $��� ;���< (�'�� %
�- ����$� � 0�0

ζ(x) = max{‖wi − x‖ : wi ∈ W (A,B)},
��$0��-0� �� ��$���� �+ � � !��!��$! (�0$�(�(�( ��  ��( ��0�����) ��� ����'��.��
W (A,B) � $��� ��
�  � −x� 8� $���& $���0���� 5� 01�! ζ(x) $�������� $ ���$���5��
(
��0�� � ��( h(W (A,B), {x})� B���������- �) 5� 01�! ��$��4��� $���4� (� �(�(� � ���0�
c
(
W (A,B)

)
� 8������(

F (x) � ζ(x) � ζ(0) = d(A,B),

��� $�������� $ ;���<� �


%2�(%���  ! �$�� B �= B, ��  ����� $��� ;���< !��!��$! $���4�(� ��&$������- �) � 3��(
$����� ���0� x !��!��$! ��%
.C�$0�( 1� ���( ( �'�$��� W (A,B) �  � $�������� $ 0. ��! �+*
%�& ���0� x∗)  � $������+,�& $ x = c

(
W (A,B)

)
) �
��� !��$!  ����� $��� h(W (A,B), {x∗}) >

> h(W (A,B), {x}), ��$0��-0� ��%
.C�$0�& 1� �� ( �'�$��� � ��0������( ���$��� $��� ��� *
$���  
&� � � ����) (�' � ����$��- �1� 0�

F (x) � ζ(x) < ζ(0) = d(A,B).

)!)! ��$"�* ."�"+"$%

A�$$(����( $ ����� ������� ( �4��4��- �0� B $ 1� ���( � ����  �& ���0� p  � �4�� ϕ
������ ��$���& $����0�� D���( �%�� ����- �������.�&$! ( �4��4��- �0 ��09

rot(B, p, ϕ) � {p}+Π(ϕ)(B − {p}),
� ���$���5��� ��$$��! �� ;���  �0�����( ����  �( p< $����+,�( �%����(9

χ(ϕ) = d(A, rot(B, p, ϕ)).

�
����( ��  ������� ��) � 0�����(  ��� ���,��- ( �4��4��- �0 B ��! (� �(���1�� χ(ϕ)�
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�����(  �$0��-0� �$��(�4����- 
� 5� 01�& ;���  �0�����( 5�0$�����  �( 1� ��� ����*
���� p<9

fa
i (ϕ) = ρ(ai, rot(B, p, ϕ)

)
, i = 1, NA,

f b
j (ϕ) = ρ

(
rot(bj , p, ϕ), A

)
, j = 1, NB ,

σa
i = sign

(
(ai − p) ∧ (π(ai, B)− p)

)
, i = 1, NA, ;��?<

σb
j = sign

(
(π(bj , A) − p) ∧ (bj − p)

)
, j = 1, NB . ;��
<

:��$- (a1, a2) ∧ (b1, b2) = a1b2 − a2b1 2 0�$�� ��������� �� ��0�����)

sign(t) =

⎧⎪⎨⎪⎩
−1, �$�� t < 0,

0, �$�� t = 0,

1, �$�� t > 0.

A�$$(����( ��55��� 1���- 
� $��&$��� 5� 01�& f b
j (ϕ)) j = 1, NB ) ��! 0����
� �(���

(�$�� f b
j (0) > 0) � ���0� ϕ = 0. 8� $���) � � �$�- 5� 01�� ��0������4� ��$$��! �! �� ���0�)

��$����'�  �&  � �0��' �$�� ∂O(p, ‖p − bj‖) ��� �4��( ϕ 0 ���0� bj ) �� ( �'�$��� A ;���$-
O(p, r) �� ����� 0��4 �����$� r $ 1� ���( � ���0� p) � ∂O(p, r) 2 �4�� �����+,�+ �4� �0��'*
 �$�-<� 8�$0��-0� ����01�! π(bj , A) !��!��$! ��� $���  �& �  � $�������� $ bj ) �� 5� 01�!
ua(x) = ρ(x,A) � bj �(��� ��55��� 1��� ;�����% �� $(� "
#<

gradua(bj) =
bj − π(bj , A)

‖bj − π(bj , A)‖ .

8�� 3��( ��0��� v 0�$����- �& 0 �0��' �$�� ∂O(p, r)) 4�� r = ‖p − bj‖) � ���0� bj ) $� �����*
��  
& $  ������� ��( ������� �! �4�� ϕ) $� ������� ��0���� bj − π(bj , A)) ����� ���(�
 � π/2 ������ ��$���& $����0� ;$(� ��$� 	<� : ����) �������� �! 5� 01�� ��  ������� �+ v
�(��� ��� ;$(� "E#<

dua(x)

dv

∣∣∣
x=bj

= lim
λ→0, λ>0

ua(bj + λv)− ua(bj)

λ
=

= 〈gradua(bj), v〉 = ‖ grad ua(bj)‖ · ‖v‖ cos∠
(
v, grad ua(bj)

)
= cos∠(v, bj − p). ;��=<

: �0 〈·, ·〉 �� ����� $0��!� �� ��������� �� ��0�����) ∠(·, ·) 2 �4�� (�'��  �(�� ������ � ;��=<
����'����- � � ��( $�����) �$�� ���,� �� �� ��0���� bj − p 0 bj −π(bj , A)  ������� � ������
��$���& $����0�) � ����1����- �) �$�� ���,� �� ���� �� ��$���& $����0�� � $�����) �$�� bj−p
� bj − π(bj, A) ��������- 
) �
��'� �� ;��=< ��� �  ��+�

8���&��( �����- �� �1� 0� �������� 
� ��  ������� �!( 5� 01�� ua(x) 0 �1� 0� ���*
����� �& 5� 01�� f b

j (ϕ)� A�$$(����( ���0� b(ϕ) = rot(bj , p, ϕ)) � 0�����+ ��������� bj ���

��������  � �4�� ϕ� 8�� ��$����� � (��
� ϕ > 0 �� ����01�! π
(
b(ϕ), L

)
 � ��� L = {l ∈ R

29
l = bj + λv, λ � 0} ��'��  � ����� ��0��!��) ���,�  �( �� b(ϕ)  � ��!(�+) $����'�,�+
��� L� 8� ��$���� �+ 3�� �� ����� �
��� � �� ���� $��

π
(
b(ϕ), L

)
= bj + r sin(ϕ)v ;��E<

�
‖b(ϕ) − π

(
b(ϕ), L

)‖ = r(1− cos(ϕ)). ;��	�<

8�$0��-0� ��0������ 5� 01�! ��$$��! �! �� ( �'�$��� ���.�1���) $ 0� $�� ��& ���.�1�*
��$�� 1 ;$(� "E#<) �� (�' � ����$��- ���� $���

ua
(
b(ϕ)

)
= ua

(
π
(
b(ϕ), L

))
+ ω(ϕ)‖b(ϕ) − π

(
b(ϕ), L

)‖,
4�� |ω(ϕ)| � 1 ��� ∀ϕ. 8��$����� � ��� �� ��$$��! �! (�'�� ���0�(� �� 5��(��
 ;��	�<)
������(

ua
(
b(ϕ)

)
= ua

(
π
(
b(ϕ), L

))
+ ω(ϕ)(1 − cos(ϕ))r. ;��		<
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�$�� ��$$(�����- ������ �
��'� �! ;��		< ��� $���(�� �� ϕ 0  ��+) ����
��! �
��'�*
 �� ;��E<) (�' � ����$��-

lim
ϕ→0, ϕ>0

ua
(
b(ϕ)

) − ua(bj)

ϕ
= lim

ϕ→0, ϕ>0

ua
(
π
(
b(ϕ), L

))
+ ω(ϕ)(1 − cos(ϕ))r − ua(bj)

ϕ
=

= lim
ϕ→0, ϕ>0

(
ua
(
bj + r sin(ϕ)v

) − ua(bj)

ϕ
+

ω(ϕ)(1 − cos(ϕ))r

ϕ

)
=

= lim
ϕ→0, ϕ>0

ua
(
bj + r sin(ϕ)v

) − ua(bj)

ϕ
+ lim

ϕ→0, ϕ>0

ω(ϕ)(1 − cos(ϕ))r

ϕ
. ;��	�<

8���%�����( �� �����- �$�� 0�'�
& �� ���� �������� � �����& ��$�� ���� $��� ;��	�<� ��!
�����4� �����( �$��(�4����- �+ ����(�  �+ λ = r sin(ϕ), 0�����! �(��� $(
$� ��$$��! �!
(�'�� ���0�(� bj � π

(
b(ϕ), L

)
� ��4��) ����
��! $��� �.� �� ;��=<) �
����(

lim
ϕ→0, ϕ>0

ua
(
bj + λv

)− ua(bj)

ϕ
= lim

ϕ→0, ϕ>0

(
ua
(
bj + λv

)− ua(bj)

λ
· λ
ϕ

)
=

= lim
ϕ→0, ϕ>0

(
ua
(
bj + λv

)− ua(bj)

λ
· r sin(ϕ)

ϕ

)
= lim

ϕ→0, ϕ>0

ua
(
bj + λv

) − ua(bj)

λ
·

· lim
ϕ→0, ϕ>0

r sin(ϕ)

ϕ
= lim

λ→0, λ>0

ua
(
bj + λv

)− ua(bj)

λ
· r = r cos∠(v, bj − p).

��! �����4� ������� � �����& ��$�� ���� $��� ;��	�<) �
��� �� ���4� �(������$0�� ����%��*
���� �!) �(��(

lim
ϕ→0, ϕ>0

ω(ϕ)(1 − cos(ϕ))r

ϕ
= lim

ϕ→0, ϕ>0

ω(ϕ)(2 sin2(ϕ/2))r

ϕ
=

= lim
ϕ→0, ϕ>0

ω(ϕ) sin(ϕ/2) · lim
ϕ→0, ϕ>0

(sin(ϕ/2))r

ϕ/2
= 0 · r = 0.

B������$���  �) (�' � ����$��- $�((� �������� � �����& ��$�� ���� $��� ;��	�< 0�0 �� �$��*
��  ++ �������� �+ ;$ �����( ��4�) ��� �� �������� �+ 5� 01�& f b

j (0) = ua
(
b(0)

)
= ua(bj)<9

lim
ϕ→0, ϕ>0

f b
j (ϕ)− f b

j (0)

ϕ
= lim

ϕ→0, ϕ>0

ua
(
b(ϕ)

) − ua(bj)

ϕ
= r cos∠(v, bj − p). ;��	6<

� ���4�� 
� ��$$�'�� �! �� �$����- � �����,� �& 5� 01�� ua
(
b(ϕ)

)
��� (��
� �� (�*

���+ � ��� �!� ϕ < 0 ��+� ���� $���

lim
ϕ→0, ϕ<0

f b
j (ϕ)− f b

j (0)

ϕ
= lim

ϕ→0, ϕ<0

ua
(
b(ϕ)

) − ua(bj)

ϕ
=

= −r cos∠(−v, bj − p) = r cos∠(v, bj − p). ;��	�<

��0 ����() �� ���� $��� �� �$����  �� �������� ;��	6< � ;��	�< ��! �������� �& $���� � $�����
5� 01�� ��$$��! �! �� ���0� rot(bj , p, ϕ) �� ( �4��4��- �0� A �
��0��� 5��(���

df b
j (ϕ)

ϕ

∣∣∣∣∣
ϕ=0

= r cos∠(v, bj − p) = ‖bj − p‖ cos∠(v, bj − p),

� �0 0�����& $�������� $� � �0�( ;��=<� � �� '� ���(! �� $��&$�� 0�$�4� ��������� �! ����$� �)
��� �4� � �0 !��!��$! ����'����- 
() �$�� ���,� �� �� �����4� ��0����  ������� � ������
��$���& $����0�) � ����1����- 
() �$�� ���,� ��  ������� � �� ��$���& $����0�) �� �$�-

sign

(
f b
j (ϕ)

ϕ

∣∣∣∣
ϕ=0

)
= σb

j . ;��	�<



�����1��  
� (����
 (� �(���1�� ���$���5��� ��$$��! �! E	

���������� ��	
� �� �
� �
�� 	

A�$$(����( �����- � $����1�+) 0�4�� 1� �� ���,� �! p $�������� $ bj . � 3��( $�����
���0� bj ��� �������� ��������� � $�%!) � � ����)

df b
j (ϕ)

ϕ
= 0.

� �� '� ���(! �$�� ‖bj − p‖ = 0, �� � 0�$�� ��������� �� �+%�4� ��0����  � bj − p ��� �  ��+)
� � ����) σb

j = 0. ��0 ����() 5��(��� ;��	�< ��� � � �+%�( $������

A
B

p

bj

π(bj , A)

v

��#!  ! � �4��4��- �0� A) B � ���0� bj ) π(bj , A) � p

A�$$(����( ��55��� 1���- 
� $��&$��� 5� 01�& fa
i (ϕ)) i = 1, NA) ��! 0����
� fa

i (0) > 0)
� ���0� ϕ = 0. 8� $���) � � �$�- 5� 01�� ��0������4� ��$$��! �! �� ���0� ai �� ( �'�$���
rot(B, p, ϕ). :�(���() ��� 5�4���) $�$��!,�! �� ���0� ai � ( �4��4��- �0� rot(B, p, ϕ)) (�'��
%
�- ��������(  � �4�� −ϕ ��0��4 p �������� � � 5�4���) $�$��!,�+ �� ���0� rot(ai, p,−ϕ)
� ( �4��4��- �0� B. B������$���  �) (�' � ����$��- 5� 01�� � ����

fa
i (ϕ) = ρ(rot(ai, p,−ϕ), B), i = 1, NA.

8��(� !! 0 ��  �& 0� $���01�� 5� 01�� ��0������4� ��$$��! �! �� '� ��$$�'�� �!) 0���*
�
� %
�� �
.� ������� 
 ��! f b

j (ϕ), (
 �������( ���� $���

sign

(
fa
i (ϕ)

ϕ

∣∣∣∣
ϕ=0

)
= σa

i ;��	?<

��� �$�� i = 1, NA) ��! 0����
� fa
i (0) > 0�

7%�� ���( �����

IA = {i : ρ(ai, B) = d(A,B)}, IB(x) = {j : ρ(bj , A) = d(A,B)}

( �'�$��� ���.� ( �4��4��- �0��) ��! 0����
� ��0�����
 ��$$��! �! �� ���4�4� ( �4�*
�4��- �0� ��� 
 ���$���5��� ��$$��! �+ (�'�� ( �4��4��- �0�(�� 8�$0��-0� �������� ��*
������ !��!��$!  �����
� 
( � ���.�1��
( ;�� �4�� ��������<) �� 3�� � ����) ���  �&���$!
��0�! 0� $�� �� ε > 0) ��� ��� �$�� ϕ ∈ [−ε, ε] ��0������ ��$$��! �� (�'�� A � rot(B, p, ϕ)
��$��4���$!  � ���.� �� ��  �%���� {ai : i ∈ IA} � {rot(bj, p, ϕ) : j ∈ IB}�
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�����( � ��$$(���� �� ( �'�$���

U(p,A,B) = {σa
i : i ∈ IA} ∪ {σb

j : j ∈ IB},

$�$��!,�� �� ��$�� −1, 0, 1) ����0������+,�� ��55��� 1���- 
� $��&$��� 5� 01�& fa
i (ϕ)

� f b
j (ϕ). 8�$0��-0� 0�0 (� �(�(  � �� �& �� ���.� ( �4��4��- �0�� ��$��4���$! ��$$��! ��

�� ���4�4�) �� U(p,A,B) �= ∅.

�+��/"3����  ! ����� ������ �������� �������������� A � B" �����" ��� A �= B,
� ����� p. #���� ����

∀ui ∈ U(p,A,B) ui = 1, ;��	
<

�� ������� χ(ϕ) ���������� � ����������� ����� ϕ = 0.

� � 0 � � � � � � - $ � � �� 7%�� ���( ( �'�$��� 5� 01�&

FI = {fa
i (ϕ) : i ∈ IA} ∪ {f b

j (ϕ) : j ∈ IB}.

��0 �
.� ��0��� �) �  �0�����& �0��$� �$�� [−ε, ε] ���0� ϕ = 0 �
��� !��$! ���� $���

χ(ϕ) = max{f ′
i(ϕ) : f

′
i ∈ FI}.

8� �$����+ d(A,B) > 0, � � ����) 5� 01�� ��  �%��� FI �(�+� �������� 
� � ���0� ϕ = 0�
B���������- �) ��! �� �$����  �� �������� 
� 5� 01�� χ(ϕ) � ���0� ϕ = 0) 0�0 ��! �����*
��� 
� (�0$�(�(� �� 0� �� �4� ��$�� ��55��� 1����(
� ����0) � ��� �! 0����
� $������+�
ϕ = 0, ��� 
 5��(��
 ;$(� "	�#<

lim
ϕ→0, ϕ>0

dχ(ϕ)

dϕ
= max{f ′

i(0) : f i ∈ FI}, ;��	=<

lim
ϕ→0, ϕ<0

dχ(ϕ)

dϕ
= min{f ′

i(0) : f i ∈ FI}. ;��	E<

��0 $������ �� 5��(�� ;��	�<) ;��	?< � �$����! ;��	
<) � �0 �������� 
� {f ′
i(0) : f i ∈ FI} ����*

'����- 
&� 8�3��(� �� �$����  �� �������� 
� χ′(−0) � χ′(+0) 5� 01�� χ(ϕ) � ���0� 0 ��'�
����'����- 
�� F�� !��!��$! ��$����� 
( �$�����( �� �����$�� �! �  �0�����& �0��$� �$��
���0� ���0� ϕ = 0, ���'�  �& � [−ε, ε]. �

�+��/"3���� )! ����� ������ �������� �������������� A � B" �����" ��� A �= B,
� ����� p. #���� ����

∀ui ∈ U(p,A,B) ui = −1, ;����<

�� ������� χ(ϕ) �
����� � ����������� ����� ϕ = 0.

� � 0 � � � � � � - $ � � �� ��0 $������ �� 5��(�� ;��	�<) ;��	?< � �$����! ;����<) � �0 �$��

�������� 
� {f ′
i(0) : f i ∈ FI} ����1����- 
&� �� 5��(�� ;��	=<) ;��	E< �
��0���) ��� �� �*

$����  �� �������� 
� χ′(−0) � χ′(+0) 5� 01�� χ(ϕ) � ���0� 0 ��'� ����1����- 
�� F��
!��!��$! ��$����� 
( �$�����( �� �%
�� �! �  �0�����& �0��$� �$�� ���0� ϕ = 0, ���'�  �&
� [−ε, ε]. �

�+��/"3���� 4! ����� ������ �������� �������������� A � B" �����" ��� A �= B,
� ����� p. #���� ����

∃ui ∈ U(p,A,B) : ui = 1 ;���	<

�

∃uj ∈ U(p,A,B) : uj = −1, ;����<

�� ������� χ(ϕ) ��������� � ����� ϕ = 0 ���������� ��������$
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� � 0 � � � � � � - $ � � �� ��0 $������ �� 5��(�� ;��	�<) ;��	?< � �$����& ;���	< � ;����<) $����

�$�� �������� 
� {f ′
i(0) : f i ∈ FI}  �&���$! 0�0 (� �(�( �� � ����'����- �! � �� � ����1�*

���- �!� �� 5��(�� ;��	=<) ;��	E< �
��0���) ��� � 3��( $����� χ′(−0) < 0 � χ′(+0) > 0� F��
!��!��$! ��$����� 
( �$�����( ��4�) ��� 5� 01�! χ(ϕ) �(��� ��0��- 
& (� �(�( � ���0�
ϕ = 0� �


%2�(%��� )! B�����) 0�4�� ( �'�$��� U(p,A,B) $����'�� 3��(� �
 0 � 1) 0 � −1 ��%�
���-0� 0  �'��+�$! � ����� ����- �( � ������ F�� �%�$����� � ��() ��� 5� 01�!) �(�+,�!
�������� �+) ��� �+  ��+) (�'�� 0�0 �%
���-) ��0 � �����$���- ��� �(��- ���0� 30$���(�(��

� ��(0�� ��������(
� ������(� ��4����(�� �������) �������!,�& B �  ��
& ( �4��4��-*
 �0 B̃) �$�,�$���!��$! �� 5��(���

B̃ = rot(B, p, ϕ∗), ;���6<

4��
ϕ∗ = −kϕ(max{Λ(A,B)} +min{Λ(A,B)})/d(A,B), ;����<

Λ(A,B) = {‖ai − π(ai, B)‖σa
i : i = 1, . . . , Na}

⋃{
‖bj − π(bj , A)‖σb

j : j = 1, . . . , Nb

}
,

� ��� �! 5� 01�& σa
i ) i = 1, . . . , Na) �������� 
 �� 5��(��� ;��?<) σb

j ) j = 1, . . . , Nb) 2 �� 5��*
(��� ;��
<� � 5��(��� ;���6< �������(�����$!) ��� A �= B, � ��� � ;����< � �����& ��$�� %����
�(��- (�$�� ���� ��  � 0. /� � $����� A = B ������ � (� �(���1�� ���$���5��� ��$$��! �!
!��!��$! �������- �&�


%2�(%��� 4! � $����� �$�� ( �4��4��- �0� A � B ����������!+� �$����!( ������'�*
 �! 	) ������ � �������� ϕ∗ ����1����- �!� ��&$������- �) �$�� �$� 3��(� �
 ( �'�$���
U(p,A,B) ��� 
 1, �� 3�� � ����) ��� �$�  ��%��-.�� �� (����+ 3��(� �
 ( �'�$��� Λ(A,B)
����'����- 
�� B���������- �) � ��� �� 5��(��
 ;����< $���4� ����1����- ��� � ���4�� �
(�' � ��0����-) ��� �$�� ( �4��4��- �0� A � B ����������!+� �$����!( ������'� �! �)
�� ������ � �������� ϕ∗ > 0� � �%��� $����!� �� $��� ���%��� ��$����� � (��� -0�4� ����*
'����- �4� 0�355�1�� �� kϕ (�' � ��%��-$! �(� -.� �! ������ 
 d(A, B̃) �� $��� � �+
$ d(A,B)�

�$�� '� ( �4��4��- �0� A � B ����������!+� �$����!( ������'� �! 6) �� �(��� (�$��
���� $��� ϕ∗ = 0� � 3��( $����� $���� ( �'�$��� Λ(A,B)  �&���$! 0�0 (� �(�( ���  ��*
%��-.�� �� (����+ ��$�� �����������' �4� � �0�� : ��� �� ;����< %���� ��� � �� $�((�)
�( �'�  �&  �  �0������ ��$��) �� �$�-  ��+�

� 4! ��%/�'%5�- .+"1+%22�"1" &"2./�&#%

� ��(0�� ��%��
 �� $���� �+ ���4��(( �& �������1�� �����%���  
� ��4����(�� �����

�$���-������ ��0�� ���0��� 
� ���4��(( GHIJHK� A� �� �����
 �'� ���(� !�� �4� ��!
��.� �! 4��(������$0�� �����) $�!��  
� $ (� �(���1��& ���$���5��� ��$$��! �! (�'��
( �'�$���(�) � ��$� �$�� ����� � ��$���� �� ����(��- 
� ��0�
��& ���$0�� � ����(�� 
�
( �'�$�� "		#� D��4����! 3��(� ( �4�� ���1����
 �'� ��������� 
 ;� ��$� �$��) ��
$0� ��
����01�� ���0�  � ( �4��4��- �0 � �������� �� ��� ����' �$�� ���0� ( �4��4��- �0� "	�#<�

B��(� ��4����(� �����1��  �& (� �(���1�� ���$���5��� ��$$��! �! ��� ����  
� �
*
��0�
� ( �4��4��- �0�� A � B � 0�355�1�� �� kϕ ����$����� �  �'�

�/1"+�$2  !

1. �
��� !��$! �
��$�� �� ������ 
 d0 = d(A,B)�
2. B�����$! ( �4��4��- �0 B1 = B �� 5��(��� ;��6<�
3. �
��� !��$! �
��$�� �� ������ 
 d1 = d(A,B1)�
4. �
��$�!��$! ��%
.C�$0�& 1� �� c(B1) ( �4��4��- �0� B1.
5. B�����$! ( �4��4��- �0 B2 = B̃1 �� 5��(��� ;���6<) 1� �� ���,� �! p %����$! p = c(B1).
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6. �
��� !��$! �
��$�� �� ������ 
 d2 = d(A,B2)�

7. �$�� d2 < d1, �� � 0���$��� �
��� �4� ( �4��4��- �0� %����$! B∗ = B2, � � ������ �(
$����� 2 B∗ = B1.


%2�(%��� 6! � �� 0�� � 1� ���( ���,� �! ( �4��4��- �0� �
%�� �  �  �0�����! 5�0$�*
����  �! ���0�) � �4� ��%
.C�$0�& 1� ��� F�� �%�$�������� (� �(��- � ���(�' �� ��(� � ��
0����� �� ���.� B̃1 �� $��� � �+ $ B1 ��� ��� �0���( ��(� � �� �4�� (�'�� ��0����(�)
$� �������  
(� $� $���� �(� ( �4��4��- �0���

−4 −2 0 2 4
−3

−2

−1

0

1

2

3

AB

y

x

B2

��#! )! � �4��4��- �0� A) B � B∗ = B2 � ���(��� 	

8�� ����$0� ���4��(( �4� 0�(���0$� ��4����( 	 �
��� !��$! � 1�0�� ( �4�0��� �� �$��*
���( �
���� !��!��$! ��$��'� �� ���$���5��
( ��$$��! ��( d(B,B∗) (�'�� �$��� 
( ( �*
4��4��- �0�( B � ������  
( � ���4� B∗ � ��� �!)  � ����
.�+,�4� �������(
& ���-����*
����( ����(��� δh. 8����$(���� � ���(�' �$�- �(� -.� �! 0�355�1�� �� kϕ) � $����� �$��
� �� 0�� 
  � �
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